DATRIZES (D 1)

7

— : : L
bt N ; 0 200 400 600 800 1000m
= I
(1/200,000) (1/25,000)

BABRZRNDIESE THERR
#HxX—1 (1) ERES m-1280
THKEERRE - THKEHIERRE LER e sk aEin

Fr7Eih MEAEMATTELYREHA

COMEE, BLMEBEREROKREERFT. ARETOEFHER00XVEFMEH0GEZERL-LDOTHD. (EKBES F2HEE. F13375)




THREFERREFDEE

D4

NRIZIRSAEE

(D 2)

—

Y o T WA N

I\

\/

X"

¥BX—2 (1) LRSEHL BT OB RORECHET FRE N oﬁ)%%% +EE maEg e | -1280
TRARAOESIN 1 mBZLIEE. TEED k
KEEMRE - T KERANE X B 55 HASS00N /i £ 187 S — -~ .
BB > - ERES %3588 EiRA Ei#iR
FEGARE | LEROBEA I mBR BB, LEEO ===
FOREH | paic £ 5 HHSONMUTORS, 14444 R
ERSORS 122,500 |2 ze g | Tm0E7 A138 AT |pmenEmTES 7 RFHE




SEEN

(ZdD3)

THEBEOEHE 0-3/Mm
BESNSDDO=AK | 19.01kN/m

DX -3 b [T e (= sp N # N U,
SEEN BB TS B EOREIHST DES E|Ih OE) i%% +a% sEEEa | 1280
LEROBEH 1 mBASEA. THED @
BB 5 5 RSN/ mE B2 KN
hiss H = = fope NI 3HE 3
;gﬁzgé IEROBER mBALBE. LEE0 — ERES ¥$358% Eind SRR
ZORECE | Bayic £ B HAS0N MU TORS, R
ThUAORS = 1:2.500 |&m e g FR30E7 B13H AT |mmenEmTES 7 RFHE




1 -1280/5 #R

N

EEABORME |TAFRDOA KN/m) | TEROSE () X

0~1

1~2 14. 88 0. 33 Y
2~3 71.67 0. 26 Y
3~4 2.48 0.17 Y
4~5 1.68 0.16 Y
5~6 1.1 0.17 Y
6~7 0.98 0.17 Y
71~8 0.85 0.18 Y
8~9 0. 38 0.23 Y
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